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2.1 
 

 

160,000/8,000 =  20  

  
(30,000/150)+(20,000/200) = 200+100 = 300  
  
  
 94,000 
= 30,000+20,000   50,000 
 144,000 
= 300* 20      6,000 
 150,000 
=150,000*10%   15,000 
 165,000 
  
= 165,000/500  330 

 

94,000/500 188       
30,000/500 60  

( 0.4 * 150)
20,000/500 40  

 ( 0.2 * 200) 
0.6*20 ( 01) 12  

300
(10%) 30 

330

01 
160,000/8,000 
20      

 
 
 
 
 
 
 
 
 
 
 
 

 1.4 
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2.2 
         

 
2.3 

 
2.4 

 

 
(1) 2006 û$÷Àæ <ÌÂ× µÙ& èõß Ñð  

 
(1,560,000/220*140)   =           992,727  

 
µ{$ß  

   

 
 (600,000/140* 220)   =           942,857  

 
(2)  

     
 
 

 2.1.1 
 

18 

30,000 (

).

( ) 24,000 

( ) 1,000

1.50%

24 ( ) 20,030  (1,000 x 20.03) 

33.23%  ((30,000-20,030)/30,000)  

 2.3 
 

44/45 

(a) 360/6,000 = 6% 

250/2,000 = 12.5%  

(b) (i)
(  360)
(  250)

(ii) (
12.5%) (6%).

 

 2.6 
 

47

2003 2006 428,571.43

2003 2016 709,090.91

280,519.48

2003 2006 2016
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2.5 
 

= 1,200*650 780,000 
(-)   

= (550+75+(22,500/900))*800  = 520,000  
(a) = (550+75+(22,500/900))*(800-650)=(97,500)  

 (422,500) 
 357,500 
= 20,800 – (22,500/900)*800 (800) 

(b) 356,700 
(145,000) 

(c)    211,700 

 
äßææ ûÚÍ<`× 

    &#íÔ à´Ô÷Ü<] &{ ÁÜ´× 

  
            550   

ÑëÙ] µû$÷̧æ$Ì× 

  
               75   

&ßö$<Ø µû$÷̧æ$Ì×  (22,500/900)                 25   

  
            650  

  
 
 

(a)   =  650 * (800-650)  

   
      97,500   

      

(b)  
     

 
 (650*1,200)  

  

     
780,000  

 

 
(-)  

 
(650 * 650)  

 

   
(422,500) 

 

     
  357,500   

 
&ßö$<Ø ûÚÍ<`× ã[ù/à½ à<µÁ$ßÂó× 

    
 

  
 &õ] 

 
   20,800  

 
 

  
 à<µÁ$ßÂó×   (800*25)     20,000         (800)  

     
  356,700  

  

(c)  
  

 
     356,700  

 

 
  (145,000)   

  
   211,700  

  
 

3.1 
 

357 
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2.6 

 

 
2.7 
 
 

 
 
2.8 
 

  

 
 
 
 
 
 
 
 
 
 
 
 
 

3.2.1 
 

412 

 

 

 

 
 

4.1 
 

433 
5 = 1,000 x 150 x 1.12^5 264,351  

5 1,000 + 1000 x 6% x 5 1,300
264,351/1,300                    =    203.35 
(203.35/150)^(1/5) – 1 =    6.27%  

4.2 
 

479 

(40)
1 -3 50
3-5 40    

                                       50    
 : ( )                    (30)

3 20 

15%
3 (1.15^3)    = 1.520875  
3 ( ) 30.42
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2.9 
 

 

 
 
 
2.10 
 

6.1 
 

607 

X= 18-P/5 

P=90-5X                                        

90X-5X2  

15X +250  

90X-5X2  15X +250

90X - 5X2 – 250 - 15X=0        

X=10  X=5 

7 X 10

P=90-5(10) 

P= 40   
   

7.1 
 

646 

(a)

( ) 

 01
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2

03 
         

 

 
 (a) 

 
  

 
=(368+32*0.5)/400  = 0.96 

 

 
=   0.96 * (1-0.96)        =  0.000096 
               400 
 
= 0.009798 

95%  = 0.96 +/- 1.96*0.009798 
= 0.96 +/- 0.0192 
94.08 % – 97.92%  
 

  
(b)  

 
  

(i)  = 100,000*0.9408*10  - 100,000*0.9792*10 
=  94, 080*10 –  97,920*10 
= . 940,800 – . 979,200 

(ii)     = 16/400  = 0.04 
 = 0.009798 

 
0.04 +/- 0.0192  
= 2.08% - 5.92% 
 

 

= 100,000 * 2.08% - 100,000 * 5.92% 
=  2,080 –  5,920  
 

 

=  
= 2,080 *10*25 – 5,920*10*25  
= . 520,000 – . 1,480,000 ( ) 
 

 
 
 
 
 
 
 
 

 2.5 
 

343 
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 

 
    

 
= 10-8 = 2 

=3,262*25*2 – 4,738*25*2 
163,100 236,900 

 = 3,262*25*3 – 4,738*25*3 244,650 355,350 

 

 (60,000) (60,000) 

 347,750 532,250 
   
æðÔ &ð{ùß  01- 

 
  

   
=   0.08 * (1-0.08)        =  0.000184              = 0.01356 
                 400 
 

  

µµ÷ÀùÚæ µ÷À$ßÂ×ùß{Ú ûØ$&×  
= 0.08 - (1.96*0.01356)*100,000 
= 0.08 + (1.96*0.01356)*100,000 

5,342 10,658 

ûØ$&×)  = (5,342-2,080)    
(10,658-5,920)  

3,262 4,738 

µ{$ß   

 
µµ÷ÀùÚæ ÑæÝóÔÈ{Ú áõÚÍ× 

  

= 0.92 – (1.96*0.01356)*100,000 
=0.92+(1.96*0.01356)*100,000 

89,342 94,658 

µµ÷ÀùÚæ ÑæÝóÔÈ{Ú ûÜèõÚ× (97,920 - 94,658) (94,080 - 89,342) 3,262 4,738 
 

(c)    
 

= 10-8 = 2    
= 2,500,000 +60,000 = 2,560,000  

2,560,000/ 2 1,280,000    
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04 
         

 
 (a)   

 

 

                                                                                                                                              
         

 (b)       

[70 - 141,250/2,030] x 2,030 850
[294 x 7 - 2,030] x 70 1,960
[50 - 78,540/1,520] x 1,520 =    2,540
[294 x 5 - 1,520] x 50 2,500
[294 x 5 - 1,520] x 6 300

= [6-6]1,520 __
90,000 – 92,880    2,880

 
 

            
(c)      

       
       [490 + 250 + 5x6] x 294          226,380

 

    850

1,960

2,540

2,500

300

2,810  5,340 2,530 

228,910 
90,000 

2,880        =        92,880
  

        321,790

 
 
 
 
 
 
 
 
 
 

5.2 
 

532/570 
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05 

         

 

(a) a - bX
 

 
12,000  

 

 
10,000

 

 
14,000  

 

 
a          =  14,000   

 
(14,000-12,000) 2,000  

 
b      = (2,000/10,000)X     = 1/5X 

 
 

 
14,000 - 1/5X  

 
14,000X - 1/5X2  

 
(MR) = 14,000 -2/5X    

 
(MC)    = 5,600  

 
 

 
14,000 - 2/5X = 5,600  

 
X = 21,000   

 
X= 21,000,  

 
(P) 14,000 - 1/5X  

 

          P= 9,800  
 
   

(b) (9,800-5,600)* 21,000 =  88,200,000   

 
(12,000-5,600)* 10,000 = 64,000,000   

 
24,200,000   

 
 
 
 

 

 

 

 

 

 

 

6.2 
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 06 
         

 

(a) ( )

80 70 120 110  

35 60 55 - 

(40) (35) (60) - 

75 95 115 110 

  
    

      (b)  ( )
 7,500,000  9,500,000  11,500,000  
 1,900,000  2,300,000  - 
 (1,500,000) (1,900,000) -  

 7,900,000     9,900,000   11,500,000  

     
 

 ( )
 

 

 
( )

 
 

 
(200,000 * 1.4 * 70 * 0.2) 3,920,000  

 
 

 
(200,000 *1.4 * 80 * 0.8) 17,920,000  

 
 

 
21,840,000  

 
 

  
 

  
 

 
(2,970,000) 

 
 

 
(5,530,000) 

 
 

 
(4,750,000) 

 
 

 
(2,850,000) 

 
 

 
  (1,600,000) 

 
 

 
(17,700,000) 

 
 

 
     4,140,000  

 
 

 
 
 
 
 
 
 
 

7.3 
 

650/655 
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3
07 

 

 

(a) 

 ( )

= 40,000 * 2 * (675,000/1,500) 36,000,000 

= (40,000/1,000) * 150 * 125 750,000 

= 40,000 * 25 1,000,000 

 37,750,000 

=40,000*0.5*30 600,000 

=((3,000,000-600,000)/4)/12 50,000 

((243,000-12000)-183,000)/ (22,000-

16,000)  8 

243,000 - (22,000 * 8) =  67,000 

40,000 * 0.5 = 20,000

67,000+20,000 * 8 227,000

    227,000 

38,627,000 

 

225,000 

130,000 

355,000 
 

 

280,000 

39,262,000 

 (b)

 550 ( )

2. 600 – 125 475  

40,000/1,000 * 150  = 6,000

550

(i) 6,000 * 550 3,300,000 

 

 

40,000*1,250 50,000,000 

(39,262,000) 

10,738,000 

(ii)  

10,738,000-3,300,000 7,438,000 

1.1 
 

95/101/103/105 
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(c)  

38,627,000/40,000
965.68 

(i) 5,000*965.68 4,828,400 

 

 

=(40,000-5,000)*1,250 43,750,000 

 

38,627,000  

- (4,828,400) (33,798,600) 

9,951,400 

- (635,000) 

(ii) 9,316,400 

(d)

=2,350 * 18,000 42,300,000 

=18,000 * 3.5 * 450 (28,350,000) 

=5,500 * 125 (687,500) 

=18,000 * 25 (450,000) 

= 17,500 *30 (525,000) 

= (17,500 * 8)+ (67,000-12,000) (195,000) 

= (6,000-5,500) * 550 275,000 

(50,000) 

(355,000) 

(150,000) 

(280,000) 

11,532,500 

  
=11,532,500-10,738,000 794,500 

 
794,500
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=(18,000*2,350)-50,000,000 (7,700,000) 

=36,000,000-(18,000*3.5*450) 7,650,000 

(6,000-5500)*125 62,500 

500 550 ( ) 275,000 

=(20,000-17,500)* 30 75,000 

= 227,000 – 8*17,500 -(67,000-12,000) 32,000 

= (40,000-18,000)*25 550,000 

(

)

 

(150,000) 

 

 794,500 

794,500

 
(e) (i)

(ii) 

 

 

 (ROI)

 
 
 
 
 
 
 



 

KE2 – Suggested Solutions 
September  2017                                                                                                                                                                                              Page 17 of 17 

 

 
 

“ ˜”

“ ˜” suggested 

solution

²

 

 

                                                   

KE2– Management Accounting Information           :     Executive Level Examination                           2017 


